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(3 marks - 1 each for a, b and ¢)

Open Closed

Morning Afternoon

7 o'clock 1 o'clock - 2 o'clock 6 o'clock

la. The supermarket opens at 7 o'clock.
Draw the time on the clock face

1b. The supermarket closes at 6 o'clock. Is this morning or afternoon?
Tick ( M ) one box.

Morning Afternoon

1c. The supermarket opens before 8 o'clock. Is this true or false?
Tick ( M1 ) one box.

True False
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(3 marks - 1 each for a, b and ¢)

Chris goes to the Leisure Centre.

Activities Price

Gym

Swimming

Snooker

2a. Chris pays £1. Which activity is Chris doing? Tick ( 4 ) one box.

Snooker Swimming

2b. Chris wants to go to the gym.
Tick ( M ) the correct number of coins he needs.

2c. How much does it cost for two people to play snooker?
Tick ( M ) the correct amount.

Adult Numeracy Measures E1 2 TURN OVER



(3 marks - 1 mark each for a, b and ¢)

Maria buys beds for her children.

3a. Which bed is the longest?

BED NUMBER:

3b. Maria looks at the width of the beds. Which bed is the same width
as bed 1?

BED NUMBER:

3c. Which bed is the shortest? Tick ( 4 ) one box.

BED 1 BED 2 BED 3
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(5 marks - 2 each for aand b and 1 for ¢)

4a. Write the days in the correct order.
Some have been done for you.

Days Order

Tuesday Monday
Monday
Thursday Wednesday
Friday
Wednesday Friday

4b. Put the seasons in order. Two have been done for you.

Spring

Winter

4c. Summer is between Spring and Autumn. Is this true or false?
Tick ( 4 ) one box.

True False
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(5 marks - 1 each fora, b, ¢c, dand e)

Sam, Carlos and Harry are waiting for a train.
i B > £ < ZP

Ba. Who is the tallest? Answer =

5b. Carlos is shorter than Harry. Is this frue or false?
Tick ( M ) one box.

True False

5c. A train can seat more people than a car. Is this true or false?
Tick ( 4 ) one box.

True False

Bd. The car is heavier than the train. Is this true or false?
Tick ( M1 ) one box.

True False

5e. Harry and Carlos each buy a bottle of water. Which bottle has
the most water in it? Tick ( ¥ ) one bottle.

A

Bottle Bottle
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(6 marks - 1 for each of q, b, ¢, d, e and f)

6a. What shape is the mirror?

a circle a rectangle

6b. What shape is the towel?

a square a rectangle

6¢c. What shape are the scales?

a square a circle

6d. What shape is the container? -

a rectangle a cube

6e. The towel is inside the container. True or False. Tick ( M ) one box.

True

False

6f. The scales are between the mirror and the container. True or False.
Tick ( M ) one box.

True

False

THIS IS THE END OF THE TEST.
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